fe) =
8 5
= =
= 8
s S
g10 510"

102
1072

O I O 111 o e

10w
T r
nd L

3 2 1 0 1 2 3 092
TP n (PCA to beamline) TP n (PCA to beamline)

M—s— DQM_VUUUI_RU0UU0U000T _Global_—mKFT_orginar
—— DQM_V0001_R000000001_Global _mkFit_pless
—— DQM_V0001_R000000001__Global__mkFit_hptt
—— DQM_V0001_R000000001_Global _mkFit_new

= =

= 1]

5 5] Lo

2 =

= =

< -

5 L. .
X

=2 =2

3 ©

F-- " E" F 5| N
910\-J%_....l....|....|....|....!.... .910%_.”.|....|”..|...u....!..”
g g
nd [ @ L

1_— -------- L 9,3 1_— --------- g, e
09831 0 1 2 3 0983———=3 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
~ 1z
E. N
D_)—
o
5
107t

23722 -1 0 12 3
TP n (PCA to beamline)



	Contents
	Page 1


